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Note: (q) 4]} questions are compuisory. (b) Marks are indicated againsy edch question jn Square
brackets. (c) The candidate is allowed 10 make suitable muneric assumplions whereyey requived

Jor solving problems.

Q1. A Verilog design module code is written as follows:

reg [8:0] flag;
integer i
initial
begin
flag = 8°p D001_0000;
J=0;
begin: block
while /j<8)

be sin
if (flag[j])
begin
Sdisplay(“Encoumered 4 True bit at position #d”, j);
disahle block1; '
end
JEit
end
end
end
i) Emphasizing on the special feature of block, discuss the ﬁmctioning of the ahove
Verilog code achieved w.r.t the special feature.
1) If similar kind of program has to be written in C language, the special feature of biock

highlighted here wij be replaced by which feature option avajlabe in C language?
Also, compare the functioning of Verilog language and C language w.r.t this feature.
[CO-3, 2.542.5=5 NS
Q2. Cis 4 S¢quential language whereas Verilog HDL s concurrent language, Justify the
concurrent nature of Ve log HDL language with the help of a programming example which yses

multiple initia] statements and show the output also. [CO-1, 4 marks)
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Q2 (ii). Clock is a recurring pattern pulse. A clock has to be generated of time period 30 time
units which is initialized at time zero and the simulation should finish in 1200 time units. Write a
Verilog design code module for the same. [CO-1,3 marks]

Q3. Blocking and Nonblocking assignments can be used in Verilog modules, differentiate
between these two by discussing their execution style, operator used etc by taking suitable
example. Out of these two, which one is preferred in digital design and why? Which assignment
out of these suffers from race condition and which one does not suffer, discuss using a suitable
example. 1CO-2, 2+1+2=5 marks}

Q4. Lmploying cuitable exampie of each, discuss the usetuiness of jorever and repeat oop in
Verilog HDL. [CO-2, 24074 marks]

Q5. It is said that in some situations while oop is appropriate and i some situations for loop is
more appropriate to be used. Justify this statement with proper logic and test cases for both
loops. [CO-2,1.5+1.5=3 marks]

Q6. How is the sensitivity list/event OR contro! defined and vscd in Verilog HDIL.? Discuss
v iih difrerent Lest cases {with variable number of inputs). [C0-2, 3 mais!

{37, The nse of theise ioen 16 aunerally prefered i conditional statements. The if-else if 1oop
- H = - F
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QS8{i). In Verilog, if there are no timing control statements, the simulation fime does not
advance’ justify the use of timing controls in Verilog in context of this statement.
[CO-4, 1 mark]

Q8(ii). Discuss the use of regular delay control, intra-assignment delay control, and zero delay

control using suitable exatple for each. [CO-4, 3 marks]




